© CIDI GROUPE 2021 - All rights reserved. This proposal is the property of CIDI GROUPE and cannot be used or reproduced without CIDI GROUPE authorisation.

N

6 | 5 | 4 3 | 2 |
2000 MIN / 3500 MAX
|_: | 1 | M | A
DI <:> B _
- |
S NIj
e 3
o
~
=
=
o
o
o
(@\]
_B. Lo
O
(@)
i
100
70
c
L 1 1 1 | o o
- @40 A 5 g C } Rl S
45 B 'o’/ lo)
O
/\ W
M8 Welded Nut
on the Inside of the Tube
M8 Welded Nut Quantity: | Designed by: Drawing date: Product: Sheet:
on the Outside of the Tube M8 Wing Screw 03 David Filipe 20/11/2024 ADJUSTABLE HANGER 1/2
RAL: Material: Part: Order:
M8 Wing Screw 9005M | Metal Assembly.01 242427K
Version: Client: Shipping date:
03 D hl n I CIDI 22/11/2024
¢45 ] ¢40 Scale: Units: \l,l U I Pg— P spice Delivery Date:
ND mm I B E R I CA L’»IWI?" ~ tﬂ!ﬂl\ Circus 25/1 1/2024
6 | ) | 4 3 | 2 I




| 2 | 1
DI
C
F G S
)
B
PARTS LIST
ITEM QTY DESCRIPTION
- 1 1 Metal Tube 245x2 1800mm
,/\ 2 2 |Metal Tube 245x2 1959mm
Example Screws 3 2 |Metal Tube 240x2 1900mm
] 4 2  |Metal Tube 245x2 300mm
5 2 Metal Tube 245x2 150
6 2 Metal Tube 240x2 950mm
7 2 Metal Plate 100x6 100mm
Quantity: | Designed by: Drawing date: Product: Sheet:
03 David Filipe  |20/11/2024 ADJUSTABLE HANGER 2/2
A RAL: Material: Part: Order:
9005M |Metal Assembly.02 242427K
s |90 1M1 | CIDI art112004
U Scale: Units: u’ I u I P — - o Delivery Date:
ND m IBERICA Lidit Gt cireus 25/11/2024
3 I 2 | 1

© CIDI GROUPE 2021 - All rights reserved. This proposal is the property of CIDI GROUPE and cannot be used or reproduced without CIDI GROUPE authorisation. |




